21 A28 &
- B ARG R
T 3] p3a) ¥ BAfL b i T
JE h& 53. 42
EX BE 34. 14
- AN S 6.92
; = = 1. 39
) - o ck=24N/mm” i
| Bt Ly Va4 8. 30
b TH A>T 9.20
BREa Y —h 0.44
7t 113. 80
JE W& 40. 97
X EE 58. 44
NT Ay b 24. 52
Gl ~
= = 4.74
: — TR el
o sty L7 v ey 31. 53
TiMlo A 7 34.21
BEa 7 ) —Fb 1. 57
#t 195. 98
el 30. 31
L= vz U—h o ck=18N/mm®> - t=100
i 3.03
WLar ) — g BLar s ) — A el 2.24
T — LA R A & o175 m 6.60
o D16L) FD25LLF 3738
%g D13 — i YY) - SD345 ke 696
& &t 4434
BT T AT R H=30m Hhm? 193. 59
ol e h <4.0
I \o I P I g 3
KR IRA TR — R R A0 L 72m 28. 57
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OA 2ERERE

1. 227 Y —1 (o ck=24N/mm?

1-1. JERR
V= 6.248
1-2. 7= CHE
(§idE) al= 12
(T~ MATHE)
al2= 1/2
(I5m) ad3= 12
V= 12

1-3. /"Iy |k

(RT) a 1= V2
a2= V2
a3= V2
ad= V2

(F1fi) a 5= 1/2
ab= V2
a7l= V2
a8= V2
vi= V2

(BITH=a 7 U — FEERR)
va2= (-) 12

1-4. ZhH
V= V2
1-5.  kyfly ¢ o
(Shi) a 1= 12
(Nifi) a 2= 2
vi= V2
(v F)ve= 2

X 4. 500
X (1 2.704
X ( 2.749
X ( 2.749
X ( 17.176
+ V2
X ( 2.562
X (2312
X ( 2.351
X ( 2.562
X ( 2.559
X ( 2.309
X ( 2.349
X ( 2.563
X ( 14. 846
X ( 5.038
X (0.300
X (. 0.700
X (0.700
X ( 12.323
X 0. 500
X 1/3

X

2.704 ) X
2.749 ) X

2.749 ) X

¥+ 17.176 ) x

( 17.176 +

2.562 ) X
2.351 ) X
2.312 ) X

2.562 ) X

2.559 ) X
2.349 ) X

2.313 ) X

¥+ 14.838 ) X

+

5.038 ) X

0. 800
V2 X

X

3.781 ) X

4.016 ) X

r+ 13.959 ) x

X

X

0. 610

( 2400 +

6. 248
6. 248

6. 248

16.895 ) X  1.500

2. 519

2. 519

2. 519

2. 519

0.500 X 0. 200

S

500

53. 42

16. 895

17. 176

17. 176

34. 14

1. 550

5.873

5.873

1. 550

Bo

Bo P

R

2 Al

14. 846

1. 548

5. 867

5.872

1. 551

2 A2

)

14. 838

7. 42

0. 50

Vv

4.910 + 5.20 )

5.920

0. 600

2,900 + 2,900

6. 92

12. 323

13. 959

7.88

0. 42

Bl B Re Rel B Re Be Re Rl B Re R R

Bo

Bo

Vv

8.30



1-6. Ty 47

(StiE) a 1= 2 x ( 0.80 + 4.163 ) X 6.000
(Nm) a 2= 2 X ( 0.80 + 4.122 ) X 5.926
vi= V2 X ( 14.889 P+ 14.584 p?) x 0.600
(N F) vo= 172 X 0.500 X 0. 504
X 3 X ( 2500 + 3.000 +  3.000
1-7. BEEa 7 ) — K
Q) vi= 1.8300 X 1.000 X 0. 100
G2) va2= 1.800 X 1.000 X 0. 137
(G3) v3= 1.800 X 1.000 X 0. 103
1-8. =7 —h&E
TV= 53.42 P+ 3414 P+ 692 B+ 1.39
+ 830 W+ 920 B+ 04
2. BIRE (—fBI)
2-1. JERR
A= ( 6.248 + 4500 X 1/sin 83° 00" 00” )
X 1900 X 2
2-2. 7= ChE
(RilHE) a 1= (ar 7V —FrDHELY)
(73F X bAITH)
a2= (ary 7V —FrDHELY)
() a 3= (ar 7V —1rDHELY)
(FEH) ad= 2 X ( 2704 + 2749 ) X 1.500 X 1/sin 83°
ab= V2 X ( 2749 4+ 2749 ) X 0.500 X 1/sin 83°
a b= 72 X ( 2704 4+ 2749 ) X 1.500 X 1/sin 97°
a7= V2 X ( 22749 + 2749 ) X 0.500 X 1/sin 97°
(CZT e
(7D as8= (-) V2 X ( 1468 + 1705 ) X 0.732
(FHef) a9= (-) V2 X ( 1.80 + 1.809 ) X 0.605
(N> FHERR)
(B3R a 10= (-) V2 X ( 131 + 1351 ) X 0.610
(FH@) a11= (-) 2 X ( 1.451 + 1451 ) X 0.504

14. 889

14. 584

36

R

R

xV

20

13

18

13

VvV

n?

00’
00’
00’

00’

00" =
00" =
00" =

00" =

)

)

113.

40.

16.

17.

17.

0.

0.

44

80

97

18

18

12

.38

12

.38

.16

.11

82

73

Rol B Re R

Be Ao Ao Ao Ao R

Be Fe Re Ro

R

XA

58.

14

R



2-3. RTy b

(AlHE) a 1= (2> 7 ) —FrDIELY)
(5H) a2= (a7 V—FDHELY)
(EER) a 3= V2 X ( 2563
ad= V2 x ( 2563
(T A > 7HERR)
(EFEMED a5= (-) V2 x ( 2309
(Fie) a6= (-) V2 X ( 2313
(N FHERR)
(Ewm) a7= (-) 1049 X 0. 610
(FieM) as8= () 1049 X 0. 504
(Z A YERR)
Hm) a9= (-) V2 x ( 0.300
(BITH =7 ) — MEREERR)
al0= (-) 0.200 X ( 5.038
(T HER)
all= 0.200 X ( 0.504
2-4. ZH
al= 0.300 X  5.200
a2= 0.707 X 12

2-5. kiRl 47
(4hif) al=
(Nif) a2=

(flHE) a 3= {
(ZBERR)
ad= (-)
(N T HERR)
ab= (-)
(N TF)

ab=

2-6. TNyl 4>

(Yhifi) a 1=
(NiH) a2=

(i) a3= |
(=B PERR)
a4= (-)
(N T HERR)
ab= (-)
(N F)
ab=

(ar 7V —FrDHELY)

(ar 7V —FrDHELY)

V2 X ( 6292
2 x ( 0.300
12 X ( 2.400
V2 x ( 2400

(v 7V —FDHELY)

(v 7V —FrDHELY)

V2 X ( 686
V2 X ( 0.300
V2 X ( 2500
V2 X ( 2500

X

2. 563

2. 563

2. 309

2.313

0. 500

5. 038

0. 504

5. 200

6. 772

0. 800

2. 900

2. 900

6. 779

0. 800

3. 000

3. 000

+

0.500 X 1/sin 83" 00" 00”

0.500 X 1/sin 83" 00" 00”

0. 605

0. 605

4. 911

3. 797

0. 700

0. 610

0. 610

1. 083

0. 800

0. 504

0. 504

0. 668

)

0. 600

0. 600

14. 85

14. 84

1. 96

R

R

R

R

R

XA

24. 52

Bol B Re Ao ReRe R

ZA

)

12. 32

13. 96

0. 34

ZA

)

31. 53

14. 89

14. 58

0.28

1.8

Bol Ao Ao R R R R

e B B Re R

Ro

2 A

34. 21

R






2-7. BEEar 7Y —F

G1) al= V2 X ( 0.087 + 0.08 ) x 1.300 = 0.11 ¢
a2= 2 X ( 008 + 0.113 ) X 1.000 = 0.10 2
a3= 2 X ( 0113 + 0.117 ) X 1.300 = 0.15 2
ad= 2 X ( 0117 + 0.087 ) X 1.000 = 0.10 2
G2) al= V2 X ( 0124 + 0120 ) X 1.300 = 0.16
a2= V2 x ( 0120 + 0.150 ) X 1.000 = 0.14 ¢
a3= 2 X ( 0150 + 0.154 ) X 1.300 = 0.20 2
ad= 2 X ( 0154 + 0.124 ) X 1.000 = 0.14 2
(G3) al= 72 X ( 0.0 + 008 ) X 1.300 = 0.11 2
a2= 72 X ( 0.08 + 0.116 ) X 1.000 = 0.10 2
a3= 2 X ( 0116 + 0.120 ) X 1.300 = 0.15 2
ad= 72 X ( 0120 + 0.09 ) X 1.000 = 0.11 2
SA = 1.57 2
A= 40.97 2+ 5844 2+  24.52 A+ 474
+ 31.53 ¥+ 3421 @2+ 157 @2 = 195.98 2
3. HyLarZ U— b (ock=18N/mm* - t=100)
A= 6.448 X 4. 700 = 30. 31
V= 30.310 X  0.100 = 3.03
4. HLarr ) — AP
A= ( 6.448 + 4.735 )X 2 X 0.100 = 2.24 p?
5. T U h—fLFEHR SR (Hf& ¢ 175)
6175 N= 12 ZN
| = 0.610 — 0060 = 050 m
T L= 0.550 mXx 12 A = 6.60 m
6. BEfERE (SD345 - —ixtEEw)
D22 — 1372 kg
D16 — 2366 kg
D13 — 696 kg
Zw = 4434 kg
D16LMUED25LT 3738 kg
D13 696 kg
7. BT (FEETREAGEZES - H=30m)
= ( 4737 + 3.382 + 4.179 +  5.226

+ 2.714 + 8463 + 9.258 ) X 5,100 = 193.59  fin?



8. KBTS T HR—FHET, H<4.0m)

=ZHR) V2 xX( 3798 + 4.298 )X
(B3R A > 7)) V2 X( 1160 + 4.333 )X
(Tl A > 27) V2 xX( 0920 -+ 4.232 )X

9. H—FL—)LRZ Mtk (M ¢ 180)
¢ 180 N= 8 FiN

SL= 0.400 mX 8 ZN

10. H—FL—JiER (Gr-C-2B)

XL= 6.100 + 6. 400

0. 500

5.710

5. 963

X

X

X

4. 911

0. 600

0. 600

9. 41

9.22

28. 57

3. 20

12. 50



2.2 P2F5H

- BEERHR
i all 5] ¥ ==Xiva g 5
g
y JE i 56. 25
ﬁ JIH a o ck=24N/mm? m 97. 20
| "
K 7 153. 45
JES Fit 37. 50
I
- il B — R 104. 77
- i
i 7 142. 27
JAD F P PR 49. 43
i 40. 04
L =2 v 7 U—1 o ck=18N/mm® - t=100
n 4.00
BLarz ) — pAR BLarz ) — i 2. 58
7 v T — LA SR Mf& ¢ 200 m 14. 26
D298 D320 7828
gij D16 D258 T — g HEYEY - SD345 kg 5620
7 "
= &t 13448
J==N
AR D29 (B0 110
BT FHE AT H=30m Hhm? 260. 40




OP 2 ISR

1. @227 J— b (o ck=24N/mm?

1-1. JERR
V= 7.500 X 5.000 X 1. 500 = 56.25 1’
1-2. JHtE
vi= ©/4 X 1500 2x  10.500 = 18.56 1’
v2= - 7 /4 X 1.500 2x 0.023 X 2 = -0.02 o’
v3= 5.000 X 1.500 X  10.500 = 78.75 o
vi= - 5.000 X 1.500 X 0.023 X 2 = -0.09 o’
XV2 = 97.20
1-3. =27 U— A8
SV= 56.25 '+  97.20 p’ = 153.45 o’
2. Hip
2-1. B (- fRIRR)
2-1  JERK
= ( 750 + 5000 )x 150 X 2 = 37.50 17
2-2  JHkE
= 5,000 X 10.477 X 2 = 104. 77 2
2-3 —xEAE
A= 37.50 W+ 10477 o = 142.27 1



3. HEAR

A= n X 1.500 X ( 10.477 +  0.023
4. ¥ L2271 —1r(ock=18N/mm?+ t =100)
A= 7.700 X 5. 200
V= 7.700 X 5. 200 0. 100
5. Laryr ) — Ml (BHLar s U— Mgy
A= ( 7.700 + 5200 0.100 X 2
6. 7 ra—F AR EIg (FE ¢ 200)
$ 200 18 VN
0 = 0.880 — 0.088 0.792 m
L= 0.792 mX 18
7. SEEEE (SD345 - —REEEY))
D29 7828 kg
D19 1108 kg
D16 4512 kg
zw 13448 kg
D29LIED3 20T 7828 ke
D16 ED25LT 5620 kg
D13 0 ks
8. BT (FHIATHMEY - H=30m)
A= ( 8700 -+ 3700 10.500 X 2

X

2 )

A JERE
110 f&pT

49.43 ?

40.04 7

4.00

2.58

14.26 m

260. 40 Hin®



3.1 A2IBEAEET ¥ & £ 5 +#

T il i & LA TBH -1
i & 5 il
L
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Ly
= — T R THUER)E o ck=24N/mm2 5

<PFEOMREE o ck=

righ =N
IR BEYRRE T 75 kg
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(=]
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OA 2HEHITT b EFH

AR ~HEX
WiT HE: TBHT.IE

M LEEME Y 129. 760

TRV 129. 760
FLER LI L BIEREL $ 1000 mm
] W' I= 7.500 m
JEAR T Y 126. 134 I [ A 4 K
5.3
TRHIE
11. 026 IEHIE I= 11.026 m
ik
7. 500
TEFRE  a= 1.09
=(9.826X1.00+1.200X1.8)
vV 118. 734 /11. 026

1. 7Y — b GREFEVEME o ck=24N/mm2 (FEOSRE o ck=30N/mm2) >

% = V4 X =z X 1000 2 X 7.500 = 5.89 o

2. SpE R (SD345)

D32 — 1133 kg
D22 — 18 kg
D16 — 236 kg
D13 — 8 kg
> W = 1395 kg
D29 ED3 2T — 1133 kg
D16 ED25MT  — 254 kg
D13 — 8 kg
3. broEALE
W = V4 X =z X 1000 2 X 0.500 = 0399
4. Himy v, BESR
a) fligR Y o 7 16 X 65X 65
W = SET OB R ) 7 BESE XY = 24 kg
b) UKL k 1.6 X 65 X 65

N = SETOhEGXmM®EY) 7, EESR LY = 40 A



5. A=YV —EERR

a) UR/L K
N = ST HmBEHK AX—V—BEEE LD = 16 A<
b) F B 30X 4
W = ST HmBEHK AX—V—RFBEEE LD = 16 kg
6. AT

(BN Vku = V4 X oz X 1000 2 X 11.026 = 8664



4.1 A2BE

A2EE B B Ol B £ B %

fift Gl P 4 ==X vA PG %
ENTEEN o ck=24N/mm” m 9. 92
il P — R m 7.97
D16LA_ED25LL T 1274
SN ] D3 SB45 kg 77
5 1351
R4 F SGP0A kg 6.26
S 4 SHM00.PLt=3.2 | ke 0.68
& OHE M ATy ) TR A m 0. 002
H oM t=20mm n 4.05
2 A K t=20mm el 1.00
S S 19 el 22. 40
i 22. 40

e b t=30mm

m 0.67




OA2HBERBIEEHNE

1.2 27 U—1k (o ck=24N/mn?%)
al= 4.997 X 493 — 0.209 X 0.121 X
vi= 24.79 X 0.400

A= (4789 + 4997 + 5000 + 4877 + 0.255)X%
3. # % (SD345)
D22 — 521 ke
D19 — 753 ke
D13 — 77 ke
Sw = 1351 ke
D16LL ED25LL T = 1274 ke
D13 = 77 ke

24.79

9. 92

7.97

2
n

3
n

2
n



4. Toh—Fv v
4=1. FT A /XA 7 (SGP40A)
L= 0. 230 N = 7T K
wl= 0.230 X 3.89 kg/m X 7 = 6.2 ke

4-2. % ¥ v 7 (S3400)

670 X 8.2 N = 7 /5
W= 25. 1 ko/ mo’
W2= z/4 X 0.0710%2x 251 kg’ X 7 = 0.68 ke

4-3. TRIM (v A F v 7 BEEEH L)
V= (/4 X 0.0416% x 0.230 — =w/4 X 0.022% x 0.220 )

X 7 = 0.002 p’

H b4 (t=20mm)

o1

A= ( 5000 + 4877 + 0.255 )X 0.400 = 405 p?

6. TAZAK (t=20mm)

A= 4.997 X 0.200 = 100 p?

7. B

A= ( 4963 — 0.480 )X V2 x( 4997 + 4997 ) = 22.40

8. #  (t=30mm)
A= ( 4963 — 0.480 )X V2 x( 4997 + 4997 ) = 22.40

V= 22.40 n? X 0.030 = 0.67 n



5.1

A2tBE

A2BE SE+TEEERHE
= Al o Bl OB Bl & = I
I + w m? 261. 1
moge RN e | owe 185. 5
% + + w m? 55. 0
IR m? 30.1




A21BE KK+ T e A E
4 W B " E X ¥ B
K + w RRETE LY = 21.1 m®
I KM REDE Im
W OR W S BhEeE L v = 185.5 m®
%+ + W 2%1.1 — 185.5 ./ 0.90 = 55.0 m®
e 4.700 X 6.400 = 30.1 m?




A2fs + L Sl
W W _ PRYE (/D) _ HREL (&#) _ G =
Wr DA VA Wr ¥ 1 VA
0.0 — - 0.0 — —
1. 930 28.6 14. 30 27.6 28.6 14. 30 27.6
0. 500 28.6 28. 60 14.3 28.6 28. 60 14.3
28.6/  — — 6.4 — —
6. 200 28.6 28. 60 177.3 16. 4 16. 40 101. 7
28.6|  — - 28.6/|  — —
0. 500 28.6 28. 60 14.3 28.6 28. 60 14.3
1. 930 0.0 14. 30 27.6 0.0 14. 30 27.6
& 261. 1 185.5




5.2 P245HN

P 2iGH AETTHEREBLEEHF

& B mooB MoK |HEM| H B fi
+ ® m? 235. 3
i
o 1 m? 162. 5
I KRR Im y
=27 J— Mo ck=18N/mm2| m? 32.7
R+ + ®w m? 43.5
%k + a1 m? 162. 5
HmEEEIE m?2 40.0




P 2 4G AKLT e iHAREE
%4 O " E = B =
R + W BIREHE LV = 235.3 m
e 1 I = 162.5 m
R ARHRER Im
MO LA bEdm A BIEHE LY = 250.9 m
a7 —F
o ck=18N/mm2 | B&E L b = 32.7 m
R+ + wb 250.9  0.90 — 235.3 = 43.5 m
%+ a1 = 162.5 m
JEEIE 5.200 X 7.700 = 40.0 m




P2l + T Sl
W W _ PRYE (/D) _ PRYE (s 1) _ o
Wr DA VA Wr ¥ 1 VA
0.0 — - 0.0 — —
4. 500 18.1 9.05 40.7 12.5 6.25 28.1
181  — - 12.5] — —
8. 500 18.1 18.10 153.9 12.5 12. 50 106. 3
8.1 — - 12,5 — —
4. 500 0.0 9.05 40.7 0.0 6.25 28.1
& 235. 3 162. 5




P2l + T Sl
W . _ HEREL (&) _ HEL (2>27VU—1Fh) I
Wr i e 1y RYAN I 15
0.0 — -
4. 020 20. 2 10. 10 40. 6
1. 480 20. 2 20. 20 29.9
6.9  — —
6. 500 16.9 16. 90 109. 9
20.2| — -
1. 480 20. 2 20. 20 29.9
4. 020 0.0 10. 10 40. 6
0.0 — —
0. 480 10. 4 5. 20 2.5
0. 500 10. 4 10. 40 5.2
2.3 — —
7. 500 2.3 2. 30 17.3
10.4) — —
0. 500 10. 4 10. 40 5.2
0. 480 0.0 5. 20 2.5
& 250. 9 32.7




1.1 P245HN

P 2B R+ THEEFE

= Al o Bl OB Bl & = I
PSEICLY R ON M i i 7O 1) 43 1095

fREx T
(RERAELRE - ik + W m?® 1537.0




P2 fRak LT 8
% O " iE =
KA+ 5
A - ik K+ H
T AR 148 x 12 7% K" X 2%
+ 14 X 14 %
+ 12 x( 248 B oHyx 9%
+ 12 x( 4 4% £ )% 18 ¥l
+ 24 X 11 4 48
Rkt /2 x( 54§ & yx 26 4l
+ 144 x 317
+ /2 x( 2148 I yx 34
& F 142 + 953
FEPER
FRIE - ik + wb
THEHEAK | JIEHELY
i+ BIREHE LV
= F 172.2 + 1364.8




P2tk & + T &G R
LTI B A - sl 2 - s 2 - fid  H
WiE | Py | SR | Wim | R M
0.0 — -
4.100 10. 7 5.35 21.9
28. 100 0.0 5.35 150. 3
0.0 — -
1. 750 49.9) 249 43.7
25. 600 49.9) 49,90  1277.4
1. 750 0.0 249% 43.7
& 172. 2 1364. 8




KB AR

XBIDS
mHEt xazor
49.9m2
v 125. 62

2
4

[121/94]

T
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A S
| & FFY
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00y | )

E|
3
]
1750

2 g,



(TEREAR (KRHE) )

XBELDS5

4000

500

3000

Eoo,

\REREL
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1-1. HIHERER

i il # & ==Xva ¥ = il
[ 2= =)
T s R | 7 0 Y 7 S Y22 35¢cm m?2 67.8
e HiAMRE m? 38.0
ayv 7 J—h o ck=18N/mm? m® 0.8 |10m¥4 v
Tl e /N E ) m?2 3.5 |
LrdsieCo  [glavyy—r k=18N/mm> 2 6.3 |»
e FRIRE B - 0 ck™ mm m :
) LA m? 2.0 |7
B Ak t=10nm m2 0.1 |»
KiCo arvr)—k o ck=18N/mm? m? 0.7 |[10m34 v
E#{aﬂ%ﬁgﬁ ELJ‘& m2 2‘ 2 i




B B JoyYiEERT (ERAIBEE)
H J=A OB a7 HiE SL BHA A Gr & =
B B lm E| W om | B M
M. 1+40. 0 4.6 --- 2.43
3.2 5.6 5. 09 16. 3 3.17 2. 80 9.0
N. 1432. 5 6.3 5.6 5. 59 35. 2 3.17 3.17 20.0
3.2 4.6 5. 09 16. 3 2.43 2. 80 9.0
m m? m’
& F 12.7 67.8 38.0




1SR 7Y — | (ERABEE) HEHE

15E#a 27 1) — MEER

100 250

L

HLavyy—+F 04 430 0

B 5 G AN
24 i PSR N =X (i i B = 10m¥4 Y &
arzU—h| 18Nmd [l [ TR EY 0. 830 0. 83|
B NEREEY | od [ TR LY 3. 500 3.50
glarsy—+| 18Nmi | o [ TRIED 6. 300 6. 30
¥ LR m | TREY 2. 000 2. 00
B Hitk t=10mm | i [(IE T LY 0. 083 0. 08




K=z J— b (ZEABEE)

HEHHE

L
~N
S|
T
~~

O
9
~N

Xiga o) — MEEX

727
737

Xmarvyy—+r

Rea HEHE
% R G S ==Xfy; &t " = 10m34 0 | %% =
27—k 18Nmmd | md V0. 73740. 727) / 20. 100*10. 000 0. 732 0. 73}
il i |A=(0. 112+0. 108) *10. 000 2. 200 2. 20|







R L THEHREE

4 B HLK - ST iE 1 E 20 B

[ 4]
IR T BEEERE LY = 57.7 n8
HEL T BEEERE LY = 12.0 n3

7+ +p 57.7 - 12.0 / 0.9 = 44. 4 n3




RIEY (L#0) IEEHES

W — PRIED (1-15) (m? .
W i W &
TE A BERE (R 5 50)
4.6
No.1432.5 5.6 4.6 4.60 25.5
7.2 4.4 4.50 32.2
a F 12.7 57.7




HRELIEEHES

o W ARL (m) e
R | T 8| R
e P RRE (B )
1.0
No.1+32.5 5.6 1.0 1.00 5.6
7.2 0.8 0.90 6.4
a3 12.7 12.0




261.

HH

o

261.

( #t h
BT (P

235.

HH

o>

235.

( Hh
BT (P

162.

HH

o>

162.

( #  +

il

AT

57.

HH S

AN
(=)

57.

B P oAl =
TEOZE{E  WEL C= 0.90
#itE+ Cc= 0.90
H R ((KEEDE )
m | —> [ wE L+ 185. m3
m3 g+ 250. m3 | At 43.50 m3
m3 Y8+ 12. m3
m3 & Bh 448, m3
RE%iE ((FEE D% )
m3 wE+ 1,537. m3
m3 wHE+ 1, 095. m3
m3 & &t 2, 632. m3
m3
m3
m3
m3
m3
o+ (M +E )
m3 B+ | (55.00 + ) = 55.0 m3
WE L | ( 43.50 + ) = 43.5 m3
e+ | (1,537.00 + 1,095.00 ) = 2,632.0 m3
m3 g = 2,730.5 m3
B Eal (162,50 + ) = 162.5 m3

= 162.5 m3







